February 07, 2012

%o Ra
2) F(P2xS (.21 nay
X ] EE
ork smbee I ‘.B."'MJ“ ' xazxe
Formula [,_(g-)..;) (z(.)rs)f Z :T:%
- Xz e |
Stactatmbe — (7-(4)-' s+ (2(!) S) \!:t %
4 Xy=2
E e% 2 Y e (R o) E(&-.B{S}x
=1 [
va 2 cel, %, 5 2()+s =5
‘ &g, %= AN =6 x .
(23 %= 2D+ § =7 = *¢
Y, ¥, > 2(3)15 =8
CC-c ‘0-‘70-9]-& :@

2D ToH=cosx G, F) n=9y

33) < ax= |
¥, O K,,:"F E FGe) o s O
Cosx; &%

oxr FoooF o
&=t Xg=3
e veosTorcosie *i= [Fons+ Fomade Fempeee 3 Tox X129
-'i[d#f cos e “‘ﬂ X,_r: C#Eoﬂ'(a),r(;)..r(y)],
le: « 3 Re4 +95+5] 1
"kEﬂsmasF’::qrm,z;J s K.Se ot hang

Lt- Eccohm), F(a)oFo)}
4 :w.a.v,g],@




